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HH AT
GENERAL KNOWLEDGE

1. A/ 2025 T gHrar faforems o @1y gedt W Sted ol STaie Il w wn AW R ¢

(A) Toeret iR (B) SREft geH (C) ST ToH (D) g9 faemR
What is the name of the astronaut who returned to earth along with Sunita Williams in March 2025 ?
(A) Victor Glover (B) Jeremy Hansen (C) John Glenn (D) Butch Wilmore
2. THE TSI 3T 8 WRa 1 58 a1 99 319ARwY Hifya fopa o, frafefaa o @ fohm o= &
e e e
(A) HETer (B) HEATC (C) HfoTR (D) WETTSg
Madhav National Park that was declared India’s 58! Tiger Reserve is situated in which of the following
States ?
(A) Meghalaya (B) Madhya Pradesh (C) Manipur (D) Maharashtra
3. fr=fafga & @ fohehl 2024 § “YRA T’ & ToATHG foharm T 2
a. W. U, WHHRHE
b. =ert =t fog
c. I 3TF
d. gwTa 8
i fow  ferebedt @ SR R
(A) e a (B) ot ad b (C) e a,bd ¢ (D) e a,b 9 d

Who among the following has been awarded ‘Bharat Ratna’ in 2024 ?
a. M. S. Swaminathan
b. Chaudhary Charan Singh
c. Karpoori Thakur

d. Harmanpreet Singh

Choose the correct answer from the options given below :

(A) Only a (B) Onlyaandb (C) Onlya,bandc (D) Onlya,bandd
4. TEIeE Fsia ey fefafgd 4 @ fra s | fea 2 2

(A) TSI (B) ST (C) TeETe (D) T

Mhadei Wildlife Sanctuary is located in which of the following States ?

(A) Madhya Pradesh (B) Uttar Pradesh (C) Chattisgarh (D) Goa
5. IR Efd o FUL AN HAR S0 & Gl T & S T&Id: &1 8ial &

(A) hicsrm HEHe & (B) BT ®RThe i

(C) hie3rm BHE (D) “hicsrm JAfeie &

Our tooth crown remains capped with hard enamel which is principally made of

(A) Calcium Carbonate (B) Magnesium Phosphate

(C) Calcium Phosphate (D) Calcium Oxalate
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6. TA.3.H. 2020 % FTER ATeAteh fornmer fian < SF=ria foha Hanati i wite fehan TR 7

(A) SHETT 61 HaT 9
(C) =H&TT 5T HeTT 8

(B) SHETT 4 T 2T 6
(D) T 6 HeTT 8

Which classes are included in the middle school education according to NEP 2020 ?

(A) Class 6to Class 9
(C) Class 5to Class 8

(B) Class 4 to Class 6
(D) Class 6 to Class 8

7. Tr=fafga 4 9 forea gy fyen < sreumon =1 gfdares foem en ¢

(A) it 3ferer
(C) T foreepTe

(B) T&THl A<
(D) 39 H & I3 TE

Who among the following propounded the concept of Integral Education ?

(A) Sri Aurobindo
(C) Swami Vivekanand

8. T -1 FA — 11 Ty gufera K |

(B) Swami Dayanand
(D) None of the above

g -1 g -1l
a. Toers forem I T3.3. 9. 2020 %1 37T 23
b. Jrenfiehl 1 3w IIl. ©1.3.91. 2020 T A 20
c. SAEdIRh et . T.3.91. 2020 T 7€ 21
d. e faram IV. TA.3.9. 2020 1 ™ 15
= feu M %< o ¥ g IW ﬂﬁ? :

R

(A a—IV,b—1,c—1Il,d=1I
(C) a=1,b=1IV,c—1ll,d=1I
Match List — | with List — II.

B) a-IV,b—1,c—IIl,d—1I
(D) a=1,b—IV,c—II,d—1ll

List -1 List -1l
a. Teacher education I. Chapter 23 of NEP 2020
b. Technology use Il. Chapter 20 of NEP 2020
c. Professional education lll. Chapter 21 of NEP 2020
d. Adult education IV. Chapter 15 of NEP 2020

Choose the correct answer from the code given below :

Code :
(A) a=IV,b=1,c=1l,d-1lI
(C) a=lLb=1IV,c—1Ill,d=1l

9. TAEW. 20207 3. .H 5. HT AT @
(A) TR STeaTaEe i s@wTe 3 e
(C) S=I9= <hl I9q f31eT wd <@t
In NEP 2020, ECCE stands for

(A) Early Childhood Care and Education
(C) Enhanced Childhood Caring and Education

-3-

B) a—IV,b—1,c—1ll,d—Il
(D) a=1l,b—1V,c—1II,d—1Il

(B) IRfYh s=U= shfega farem
(D) S 1 HIA @A Td e

(B) Early Childhood Centered Education
(D) Efficient Childhood Care and Education
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10. Tfefad § @ =1 T IRG § TS qoaied U9 YR 9w (NAAC) 1 TTeifis ®ishd & 7

11.

12.

(A) BT ! Torxdta Tgman M ST

(C) 3= Tnem TE™T &1 T

(NAAC) in India ?

(A) Providing financial aid to student

(C) Accreditation of higher education institutions

(A) HHIE o
CELREE

(B) Tovafame™ yow wien 3w e

(D) TEAHI § =M h1E 1 fafema

Which one of the following is the primary focus of the National Assessment and Accreditation Council

(B) U. |I. §. 37egd HA™
(D) ST H & 1S T

(B) Conducting university entrance examinations

(D) Regulating tuition fees in institutions

3Tife faeh@ & fw PURA gfeeshivn frmifaiRaa o & fereeh femmT &1 3091 2 7

PURA approach to economic development is the brain child of who among the following ?

(A) Manmohan Singh
(C) Amartya Sen

(B) A.P.J. Abdul Kalam

(D) None of the above

A — | I g — 1| § GHTAA L T Gl o A= 1CT T e H T ITW H1 9= I |
g -1 T -l
(T==) (T 3am)

a. TSYH . HHE TS 3T

b. BAETE 11, fom Seft Tediar 3=

c. 34y 1. SgTardt USET 3T

d. Teamaer wem IV. haclid TSR 3T

Fe

(A) a=IV,b=Ill,c—=1Il,d=1
(C) a=lll,b=1V,c—1,d-1

B) a-IV,b—1lll,c—1,d—ll
(D) a—1lll,b—1IV,c—1l,d—1

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1
(State)
Rajasthan
Chhattisgarh
Assam

e o T o

Himachal Pradesh

Code :
(A) a=IV,b=Ill,c—1Il,d=1
(C) a=ll,b=1IV,c=1,d-Il

List—1I
(National Park)
Manas National Park

. Pin Valley National Park
. Indravati National Park

Keoladeo National Park

B) a—IV,b—1ll,c—1,d—1I
(D) a—1ll,b—1IV,c—1Il,d—1
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13, T& + 20 goma: frafefea & @ forod arafim 2 7

NEEUCEREEC (B) Had ferepre

(C) SHEE fsT (D) o TRETU

Rio + 20 is mainly related to which of the following ?

(A) Economic development (B) Sustainable development
(C) Population control (D) Forest protection

14, ‘COAH.HAR, H w0 31d @ ?

(A) TSR Heah e Tga™ (B) TE=fetd e wiIe UEEH
(C) 3Td IR Wi Tga™ (D) TEETfeld TS wie 9=
What does ‘ANPR’ stands for ?
(A) Automatic Network Plate Recognition (B) Automatic Number Plate Recognition
(C) Advanced Number Plate Recognition (D) Automated National Plate Recognition
15. ‘gaq faem’ o1 foem fem ad sifcaea § smn ¢
(A) 1972 (B) 1980
(C) 2007 (D) 39JFd | & HIS &l
In which year did the idea of ‘Sustainable development’ came into existence ?
(A) 1972 (B) 1980
(C) 2007 (D) None of the above
16. Tr=fefaa # @ =1 & fivgee | 8 ¢
(A) T (B) Bferam
(C) TTEEISH (D) TS THISTFETES
Which one of the following is a greenhouse gas ?
(A) Methane (B) Helium
(C) Hydrogen (D) Carbon monoxide
17. Tfafaa & 9 fh 2024 7 e wifd QR & Fwfaa foham w2
(A) TET =T (B) 3T | g H
(C) TAAT JTHTs (D REEEREEERI
Who among the following was awarded the Nobel Peace Prize 2024 ?
(A) Mother Teresa (B) Aung San Suu Kyi
(C) Malala Yousafzai (D) Nihon Hidankyo
18. Trfefea § @ A T I a1 hisHe faeM ATSHT & qoid: 9 & o1 ?
(A) HETeHT Teft (B) JaT&l AT I8&®
(C) TER WA (D) TIAHT ST et TG
Who among the following leader of Congress was totally in favour of Cabinet Mission Plan ?
(A) Mahatma Gandhi (B) Jawahar Lal Nehru
(C) Sardar Patel (D) Maulana Abul Kalam Azad
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19. 2005 H ST U FATE! WICIehict 1 T 9T A 2 7

(A) ISTTd TETEPR 8 3ifa wenfud s (B) Af3Teh HTaA SR ST
(C) HETENRIA YguUT ! Tt e (D) METSH i o IcESH bl HH HAT
What is the primary purpose of Kyoto protocol which came into effect in 2005 ?
(A) Establish peace in the pacific ocean (B) Create a global carbon market
(C) To regulate ocean pollution (D) To reduce the emission of greenhouse gasses
20. 1857 % fagig & & =al
a. Tt @eHieTs
b. T AU
c. Sglgl ATa ST
d. ¥R fER areft
A fow Ty forebedi & @ W) SR AT ;
(A) I a, b, ¢ (B) % b, ¢, d (C) %ad d, a, b (D) % ¢, d, b

Main leaders during the Revolt of 1857
a. Rani Laxmibai

b. Mangal Pandey

c. Bahadur Shah Zafar

d. Mir Nisar Ali

Choose the correct answer from the options given below :
(A) a, b, conly (B) b, c,donly (C) d, a, bonly (D) c,d, bonly

21. T A& Al A JaTE Il & Ty § Fefefad § @ -9 sy wd § 7
a. YL § T BRI g a@r 2|
b. T =T &I IS # 7 |
c. TS qUT JeTT T JTTeAt shY TEreh At § |
d. §4 ¢ T % g de I IHE TEES A B |
o few e feredt § @ Tl IwC A ;
(A) I a, b, ¢ (B) 9 b, ¢, d (C) % a, ¢, d (D) e a, b, d
With reference to river Ganga drainage system, which of the following statements are correct ?
a. The Ganga river system is largest in India.
b. Ganga rises in the Uttarkashi.
c. Satluj and Jhelum are tributaries of Ganga system.
d. Son river is its major right bank tributary of Ganga.

Choose the correct answer from the options given below :
(A) a, b, conly (B) b, c,donly (C) a,c,donly (D) a, b, donly
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22, W el fefifad d @ frmewd @ g 2

(A) SFATCH (B) <M (C) WRd (D) HTFREA™
Khyber Pass is situated in which of the following countries ?
(A) Bangladesh (B) Bhutan (C) India (D) Pakistan

23, ‘sinaNfae g fefafea & 9 frme gfom 2 2

(A) WETHRT S (B) gt 1 =i
(C) IHYESH T fir=Tamd (D) =T I TecaTehyvl fa=me
‘Coriolis effect’ is a result of which of the following ?
(A) Ocean currents (B) Earth’s rotation
(C) Atmospheric pressure differences (D) The gravitational pull of the moon
24. Tt SIad, 1 siasda sieifuss afifa (10C) 6t sreaer T 9T areft ugel wfgen s+, frfafaa
Fafracuad ?
(A) Torrareat (B) Ategferan
(C) SITSite (D) T T TR

Kirsty Coventry, who became the first woman to be elected as President of the International Olympic
Committee (I0C) is from which of the following countries ?

(A) Zimbabwe (B) Australia

(C) Brazil (D) United States of America

25, FrAfaRad § & HH-81/8 TS SHE@ Afd, 2000 % LW 2/8 ?
1. 2045 T TTEEAT TRR & |
2. WTq Y&t ! 100,000 Sfferd AT T 100 & = @M |

= feu T e @ T IW 1 =TI HINC

He

(A) e 1 (B) a2

(C) 1 3 2 g O T 13RTD2

Which of the following is/are the objectives of National Population Policy, 2000 ?
1. Population stabilisation by 2045.
2. Reduce maternal mortality rate to below 100 per 100,000 live birth.

Select the correct answer from the code given below :

Code :
(A) Only 1 (B) Only 2
(C) 1and 2 both (D) Neither 1 nor 2
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26.

27.

28.

Frefafed # @ %9 ge9 Tfg IS 9o § ?

1. I FER

2. §fg SN

3. aRd | fopeft oft feuiforedt & o w feuifsed @

= feu MU e @ T IW 1 =TI FHINC

He:

(A) had 1 (B) whadd 1 3T 3 (C) et 2 3R 3

Which among the following are the best known capital markets ?
1. The stock market
2. The bond markets
3. A depository account with any of the depositories in India

Select the correct answer from the code given below :

GET IT ON
Google Play

(D) et 1 3R 2

Code :

(A) Only 1 (B) Only 1 and 3 (C) Only2and3 (D) Only 1and 2
qRd | fherhl <t TmoAT fohe &l 2

(A) S, €. fogen @@ F. 3R €. T (B) TNIIUETE STHEH Ud S, €. fargen
(C) TETeHT Teft T grervTg ISt (D) TRNITHET BTG T S HAR. Tl 2Tl
Who established FICCI in India ?

(A) G.D. Birlaand J. R. D. Tata (B) Purshottamdas Thakurdas and G. D. Birla
(C) Mahatma Gandhi and Dadabhai Naoroji (D) Purshottamdas Thakurdas and J. R. D. Tata
T — 101 = - 11 6 w1y gafera hife 7o gl o e for T ge § w8 W g |

T -1 -0
(SAfEreRT % ThR) E©ceel)

a. faftr & wwer gmmar 1 SfosR | ST - 14

b. & % IMYR W WeWTd | Fram II. 3TIET - 15

c. T <hl HHHAT lIl. 3TE= - 16

d. STEIEIAT I 37 IV. STIET - 17
&R
(A) a-1 b—Il c—1l d-1v
(B) a-—1 b—1l c—1l d-1v
(C) a—I b -1l c—1v d-Ii
(D) a-1 b—I c—1l d-1v

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List -1l
(Types of Rights) (Article)

a. Right of equality before the law I. Article — 14

b. Protection from discrimination on religious ground II. Article—15

c. Equality of opportunity Ill.  Article — 16

d. Abolition of untouchability IV. Article —17
Code :

(A) a-—I b—Il c—1l d-1v

(B) a—1I b—1l c—1l d-1v
(C) a-—I b -1l c—1v d-Il
(D) a-1 b—I c—1l d-1v
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29. ARANT hl T(ehdH Teed &1 HYiig 2

The maximum number of members in the Lok Sabha is fixed at

(A) 530 (B) 545 (C) 550 (D) 552

30. Gt — |l HE - I % G gafad hifse qen gieet & e for T e @ wE 3w g |

A -1 TR -1
(STTE=) (Sr&entaes TTae)
a. 3T 50 |, Trsgdfcl O HETIRIAT
b. 318G 143 II. —ARITTehT 3TR SRR o S JIeRhUl
c. 315 61 lll. STk |G SR 1 BRI
d. 3TeE 320 V. Helled AT ol FATERR &R
He
(A) a—=Il b-IV c-I d—1
B) a-ll b—l1 c—IV d-Il
C) a-ll_ b-1 c-IV d-1
(D) a-ll b-IV c—I d—1i

Match List — | with List — |l and select the correct answer from the code given below the lists.

List -1 List -1
(Article) (Constitutional Provision)
a. Article 50 I. Impeachment of the President
b. Article 143 Il. Separation between Judiciary and Executive
c. Article 61 lll. Functioning of Public Service Commission
d. Article 320 IV. Advisory Jurisdiction of the Supreme Court
Code :
(A) a=1l b-IV c-I d-1lil
B) a=Ill  b-I c—1v d-Ii
C) a-II b-I c—1v d-1lil
(D) a=Il b—-IV c-I d-Ii
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31. frfefaa fashedt § & uigu Sas Gae= Sishanati 1 &t a4 |
i. TFEATE ohl TEUATSAIH

i, SIS

iv. GEdTehTul

(A) i, iii, ii, iv (B) i, i, iii, iv

(C) iv, i, i, iii (D) ii, iv, i, iii

Choose the correct sequence of plant tissue culture processes from the following options.
i. Sterilization of explant

ii. Incubation

ii. Inoculation

iv. Hardening
(A) i, iii, ii, iv (B) i, ii, iii, iv
(C) iv, i, ii, iii (D) ii, iv, i, iii

30, Frefafad =il 1 GHTH & FHE § SHEreE HIT |

|, ATgh

II. 3o T Bl

. Hig
V. 98
(A) 1, 11,1V, 11l B) 1,1V, 11, 1l
(©) 1L, 11, IV, | (D) 1,111, 11, IV
Arrange the following steps in a sequence of succession.

I. Lichen

Il. Herbs and shrubs

Ill. Moss
IV. Trees
(A) LIV, I (B) I, 1v, 1,1
(C) 1,1, v, | (D) 1,1, 1,1V

-10- 71
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33. = @ %o fou M &, U i AMHAA (A) 3R g H T (R) HET TR
ATTHRUA (A) : HIH T TGH BT AT T 2 |
Teh (R) : HUTE o =g st W foehfad & § |
Tl foeheT 94 |
(A) (A) 3T (R) g1 & § 3 (R), (A) 1 T =wE B
(B) (A) 3T (R) 1 T § W (R), (A) HY welt =ame 7 2
(©) (A) W&l 2, W (R) T &
(D) (A) T 8, W (R) Wl @
Given below are two statements, one is labelled as Assertion (A) and other as Reason (R).

Assertion (A) : Cotton is fibre yielding plant.

Reason (R) : The cotton fibres develop on the seeds.

Choose the correct option.

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(C) (A) is correct, but (R) is not correct

(D) (A) is not correct, but (R) is correct

34. Uk BLENIH 3fie 1 A MR BIdT &

The standard size of a herbarium sheet is

(A) 28.75 x 41.25cm (B) 25.15x40.25cm  (C) 18.75x41.25cm (D) 28.75%x35.23 cm
35. fr=Afafga & & i s & 375 =l S@mET ¢aT 8 ?

(A) T ThIA (B) Tt JhI=A (C) YetT JehTst (D) RS JhTST

Germination of seed is promoted by which of the following ?

(A) Green light (B) Red light (C) Blue light (D) Infrared light
36. 1 o el H TFEIME hl F1 Had & 7

(A) STURER (B) ferenfirr (C) HHIRRR (D) TAIRRR

Succession of sandy dune is called as

(A) Xerosere (B) Lithosere (C) Psarmosere (D) Halosere
37. Trafafga @ & - yofa wraad o 3w wefa =& 7 2

(A) SrEIfE SefreeTr (B) 3ATgehIfar shifras

(C) T=CHT SN (D) HEAISH SfFear

Which one of the following species is not an invasive species in India ?

(A) Prosopis juliflora (B) Eichhornia crassipes

(C) Lantana camara (D) Cynodon dactylon

38. € Wl hl ATt WfRret fepart Bt & 2

What is the water potential of pure water ?
(A) 0.1 (B) 1.0 (C) 0.0 (D) 5.0

-11- 71
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39. Trfefga # & v Turies afterd= qweH § wEwEe B g ?

(A) FTaer fir=rar (B) wew fa=em

(C) SETh IR HIfEeh (D) SNER &M aTeft ge

Which of the following is helpful to understand Coefficient variability ?

(A) Relative variation (B) Mean deviation

(C) Mode and median (D) Most frequent occurrence
40. Tr=fafEd 4 @ SF-91 gRAH ®al o o § JEad: fSoier gar 8 ?

(A) Tfeafes Tfae B) feifera (C) 3TSTH (D) TTEIHIEHH

Which of the following hormones is mainly responsible for ripening of fruits ?

(A) Abscisic acid (B) Gibberellins (C) Ethylene (D) Cytokinins
41, Tr=fafad O @ SH-T1 SR TEH & B8 3T TSRS TN HI § e § 2

(A) TESEm (B) Tt Uied

(C) UgIeeTTeHeh Uegpem (D) TR

Which of the following organelles is involved in both protein sorting and post-translational modification ?

(A) Ribosome (B) Golgi apparatus

(C) Endoplasmic reticulum (D) Peroxisome

42, ELTT. 3] 1 Uk AW AW Efafad 8 & fohdan gar g

Which of the following is the uniform diameter of a DNA molecule ?

(A) 20 A (B) 60 A (C) 80 A (D) 27 A
43. Tr=fafaa o @S- gaifes fer aifcafeh a8 7
(A) ST (B) e (C) udd (D) 993
Which of the following is the most stable ecosystem ?
(A) Forest (B) Desert (C) Mountain (D) Ocean
44, Tr=Afafga 9 @ forod watfas a9 e g 7
(A) BiTETE (B) WeA Wew (C) sfean (D) ITEUTEIA A
Which of the following has largest forest cover ?
(A) Chhattisgarh (B) Madhya Pradesh (C) Orissa (D) Arunachal Pradesh
45. T=fafga & @ ®H-81 YRd *1 yu9 TREEARR fiod 2 7
(A) AR SRR o (B) Twered sEhRR s
(C) T2 fehie SEhRR fiote (D) Thieh IR fiwd
Which of the following is the first biosphere reserve of India ?
(A) Nilgiri Biosphere Reserve (B) Nandadevi Biosphere Reserve
(C) Great Nicobar Biosphere Reserve (D) Nokrek Biosphere Reserve
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46.

47.

48.

49.

50.

51.

247

-7 uTifeas frfre gder Hhor gar g 7

(A) T & s (B) SawR =1 g

(C) Ui @ @ 1 e (D) St =1 Tt

Which ecological pyramid is always upright ?

(A) Pyramid of numbers (B) Pyramid of biomass

(C) Pyramid of parasitic food chain (D) Pyramid of energy

‘STERER wreg fohe femm o ¢

(A) =T S| (B) Tt HRA

(C) TuIfires T (D) S&c4, SeE

Who coined the term ‘Genetics’ ?

(A) Hugo de vries (B) Carl Correns

(C) Tschermak Seysenegg (D) W. Batson

I <t focires TtaaT 1 ATt foham ST Tehd @

(A) THT STghIfH THFZEhl g (B) oM HISEHITRI T

(C) hicH ShIHEHTH g (D) T TR IR g
Secondary structure of protein can be assessed by

(A) Circular dichorism spectroscopy (B) Electron microscopy

(C) Column chromatography (D) Thin layer chromatography
ST M Herd HH Teh IS 8

(A) 3P| 1 (B) ZreifTm =1 (C) T = (D) BT 1
Scientific name Malus malus is an example of

(A) Autonym (B) Tautonym (C) Synonym (D) Homonym
IS BT &

Monosonic is

(A) n (B) 2n—1 (C) 2n+1 (D) 2n+2

fort S & e o HROT U Afgen # hetae U4 diciiSwersed g e o § | hetee 30 31 frar @
Tq diciederselt 3T ATl § fict 2 | 38k Ul § 39 Qi § | I3 01 A7) @ | AlG I8 w9 forn I TR
A SHI 0T T 7O W 15 cm 31 gl W &, Al ITeh GUH T § 37 I U b B ohl FEATEAT 21

A woman possesses two dominant traits, each resulting from a mutation in a different gene, cataracts
inherited from her father and polydactyly inherited from her mother. Her husband does not have either
trait. Given that the genes for these two traits are located 15 cm apart or the same chromosome, what is

the probability that their first child will inherit both cataracts and polydactyly ?
(A) 49.5% (B) 42.5% (C) 52.5% (D) 63.9%
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52. hIfTeRT fIqTSH & 99T FAT hes foivd: e § 9 fored s B 7

(A) TEHTEHICE H (B) fufeimresicy ¥

() STy (D) wrgfefesmreticy 3

Clamp connections are characteristically formed during cell division in which of the following ?

(A) Ascomycetes (B) Basidiomycetes

(C) Deuteromycetes (D) Chytridiomycetes
53. frefafd # & o w<u e anfhs e 2 ?

(A) TITEE TSt (B) fehre HifE

(C) fereefan aam (D) Franfean frew ufem

Which of the following is known as Bird’s Nest Orchid ?

(A) Spiranthes spiralis (B) Orchid Morio

(C) Listeria ovara (D) Neottia nidus avis

54. TrefaiRad i @l &S (2009) i Sffrr Tgfd o AR Saferd ST |
|. Toheoreft
II. TarETSE
1. feRred
V. Hicret
(A) v, 1, 11,1 B) I, 1V, I, 1 (C) 1, v, 1 (D) 1, 1, 1, 1v
Arrange the following families according to Takhtajan (2009) system of classification.
I. Acanthaceae
Il. Apocynaceae
[ll. Rubiaceae

IV. Solanaceae
(A IV, L1l B8) 1,1V, 1,1 (C) 1,1, Iv, 1 (D) L1, v

55. TAfcIRad =R I Tl TR H AT HINT |
|. e <t arffentor agfa
II. T2, ISl shi affertor ugfa
IIl. S TS BT ST TR TG
Iv. WTer ud oot i affertor ugfd
(A) 1L 1,1V, B) LIV, I, C) LML IV, I (D) 1, 1L, 1, 1v
Arrange the following steps in the correct sequence.
I. Hutchinson’s system of classification
Il. A. P. de Condolle’s system of classification
[ll. Bentham and Hooker’s system of classification

IV. Engler and Prantle’s system of classification
(A) L1, 1v, B) I, 1V, 1,11 C) 1,1, Iv, 1 (D) 1, M, 1, 1v
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56. len Tfrred (SArgesist del) § qaal W@ 8

57.

58.

a. i =pfaet 3t ide 39 Wig (e few) &
b. HTET JHHICHIG & Sgrediieh foehra §

c.%ﬁﬁ\_ﬂ%ﬁ?{&‘ﬂﬁ
d. TS | Tdd hegehd favreH |
(A) b,c,d (B) a,c,d (C) a,b,c

Gnetum resembles angiosperms in having

a. Shoot apices with distinct tunica and corpus
b. Tetrasporic development of the female gametophyte
c. Dicotyledonous embryo
d. Free nuclear division in zygote
(A) b,c, d (B) a,c,d (C) a,b,c

e} <t il % SRR I FEfaRad § § SH-H Ieg aviH i @ 7

. TETEHR (g§ )
. AT (ARIATHR)
. 3Aae (3TSThR)
. FERR ()
e. fte
(A) a, ¢ (B) b,d, e (C) a,b,c
Which of the following terms described shape of plant leaves ?
Acicular
Oblanceolate
Ovate
Entire
Serrate
(A) a, c (B) b,d, e (C) a,b,c

o O T ©

© 20 o0

GET IT ON
Google Play

(D) a,d, e

(D) a,d, e

frafafea & @S- HY Nl % 3eafa w41 1§ § Al gu we@ e fSfagar awn w5 7

TR T 7
(A) HEETTR g (B) Ui g & epe
(C) $SI-HTH 5 (D) eferr TR g

Which of the following centers of origin of cultivated plant was identified by Vavilov as having the greatest

diversity in crop species ?

(A) Mediterranean Center (B) Near Eastern Center

(C) Indo-Malay Center (D) South American Center
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59. Tr=faiRad <ol =i € A | Safeud Hife |

|. T[T Td HTEvardl gRI WITehisl Geed i @ia

II. TSR G SEYUIAT hl Gl

IIl. ETEETR gRT SATEI= | Ik Hard 6l @ial

V. TR gRT SgasitE 8 fgdiaes Fuem 6 @
et fou e e # | W I A |
%e:

(A) 1,11, 1V, 11l (B) 1, IV, L, Il (©) I, 1L, 1V, 1 (D) 1, 1L, 11, 1V

Arrange the following steps in the correct sequence.
I. Discovery of anther culture by Guha and Maheshwari.
Il. Discovery of polyembryony by Leeuwenhoek.
[ll. Discovery of syngamy in Angiosperms by Strassburger.
IV. Discovery of double fertilization in Angiosperms by Nawaschin.
Choose the correct answer from the code given below.

Code :
(A) L 1,1V, B) I, 1V, 1,11 C) 1,1, 1v, 1 (D) 1, 1, 1, v

60. Jf¢ fertlt Semie o1 UM fa=are (Standard deviation) 4 8 3T 371&d 20 8, @1 fa¥igerdt sl U

(Coefficient of Variation, (CV)) &1 BNl ?
If the standard deviation of a dataset is 4 and the mean is 20, what is the Coefficient of Variation (CV) ?

(A) 10% (B) 20% (C) 16% (D) 25%

61. T — I I I — 1| & TY AT B |
g -1 Tt - i

a. Taea S . HerrE fafy

b. TSI T &1 H II. Tefoera I 37 mieis s

c. Tyugt &1 o= Fefrafan 1. S Tl

d. ATH T IV, TR Afeyentan

= feu U e @ @ T W T |

*e:

(A) a=lllLb=1l,c—IV,d—1
B) a —l,b—1Il,c—1IV,d—IIl

(C) a-ll,b-lLc—-1l,d=-1IV
(D) a-Mll,b—-1V,c—1l,d—1
Match List — I with List — II.
List -1 List -1l
a. Citrus canker [. Melanospora lini
b. Green Ear of Bajra II. Hibiscus yellow vein mosaic virus
c. Vein clearing of Bhindi Ill. Xanthomonas citri
d. Rust of Linseed IV. Sclerospora gramnicola
Choose the correct answer from the code given below.
Code :

(A a-1ll,b—1l,c—1V,d—1
B) a-lL,b-Il,c—1IV,d—1l
(C) a=lll,b—1,c—1Il,d-1V
(D) a—1lll,b—1IV,c—Il,d—1
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62. T — | 1 A = -1 W R |

i -1 T -1
a. =Y 3 TR | SffeRtor JUMTett €1 shireld T SATHTRa 2
b. WIeR 3R e II. SfTeRTur SoTTeft srEft ST SuTTel TR 3T B
c. g I1l. iRt JoTTet Soe SUTTell WX ST9Tid &
d. TN IV. ShiH{FIEC o THH
= feu o e # @ e W g |
ECE
(A) a=ILb-lll,c=1Il,d=1V B) a-I,b=Illl,c—=I,d=1V
(C) a-ll,b-lLc—-1l,d=-1IV (D) a-1IV,b—=1Il,c—1l,d-I
Match List — | with List — II.
List - List -1l
a. Bentham and Hooker I. Classification system is based on de Candolle
b. Engler and Prantl Il. Classification system is based on Bessy’s system
c. Hutchinson Ill. Classification system is based on Eichler’s system
d. Takhtajan IV. Very similar to Cornquist
Choose the correct answer from the code given below.
Code :
(A) a=Lb-ll,c—=1l,d-1V B) a —-I,b=lll,c—-1I,d-1V
(C) a-ll,b-lLc-1l,d=-1IV (D) a—1IV,b—=1Il,c—1l,d-1
63. T — | I g - 1l T gAfTd R |
Tl -1 Tl -0
a. g 1 &cieh T |, werife Repreien
b. T8 1 Il T II. weretferm Dfafaepien ue. e, foowh
C. ﬁgwwr{z lll. FASIEIZhH helehdH
d. T H 1§ W V. et Sermrie
= o g = foeped I AT |
e
(A) a=Illl,b=1Il,c—1IV,d-1 B) a—-IL,b-1,c—1IVv,d-1lI
(C) a-ll,b—1IV,c—1,d-ll (D) a-lL,b—=Ill,c—1V,d-Il
Match List — I with List — II.
List -1 List -1l
a. Black rust of wheat I. Puccinia recondita
b. Yellow rust of wheat Il. Puccinia graminicola f.sp. tritici
c. Brown rust of wheat lll. Colletotrichum falcatum
d. Red rust of sugarcane IV. Puccinia striiformis
Choose the correct answer from code given.
Code :
(A) a=Illl,b=1Il,c—1IV,d-1 B) a-I,b=1,c—=1IV,d-1l
(C) a-ll,b—=1IV,c—1,d-1l (D) a-lL,b=Ill,c—=1V,d-Ill
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64. W HH UNheu] U AT e & avary #§ SH-91 %oF e 8 7
|. SIg Sheh THhEHHT o STTER 0T ($2) &g STIANIh T STdTerviid hReh & THTfd 8id & |
Il. TR < SIER ArTeneh Qo H freran sl srdfers firmar (v, ) & amarefia e (v,) 3@
famira =t gehd & |
1. TR 3 gra foparm fob ATTereh U1 hael STATaRUi el | Y9I & & |
V. et Tfefies frsrar (vy) goem SAaifers fsrer (vy) % s 2t 2 |
(A) Shaed |, 11 I (B) hae 11 311 (C) shaa I, Il 3T IV (D) shaet | I

Which statement regarding the multiple factor hypothesis and phenotypic variance are true ?

I. According to the multiple factor hypothesis traits are influenced by multiple genetic and
environmental factors.

Il. According to Fisher, the variance of a quantitative trait can be partitioned into genetic variance (V
and environmental variance (V).

[ll. Fisher claimed that a quantitative trait is solely determined by environmental factors.
IV. The total phenotypic variance (V) of a trait is always equal to the genetic variance (Vg).

g)

(A) Only I, Il and I (B) Only Il and IlI (C) Only I, Il and IV (D) Only land Il
65. HI — | I G — 1| o TY FHTT B |
Sl Tl -

a. fufemen oimm |. IRfsTE

b. TR ShiEw II. uftroef

c. WrsciteRt SATTRfafera . et

d. geiefeEn HreMmy Iv. Sfuferaret
= feu U e W @ wE W T |
%R

(A) a-Il,b-1IV,c—1,d-1l B) a -IV,b-Lc—1ll,d-1Il

(C) a=ll,b=1l,c=1V,d -1 (D) a=lL,b=1ll,c=1V,d-1l
Match List — | with List — 1.

List -1 List -1l

a. Pimpinella anisum I. Euphorbiaceae

b. Trigonella foenumgraecum Il. Apiaceae

c. Emblica officinalis lll. Zingiberaceae

d. Elettaria cardamomum IV. Papilionaceae
Choose the correct answer from the code given below.
Code :

(A) a-Il,b-1IV,c—1,d-1l B) a-IV,b-Lc—Illl,d-II

(C) a=-ll,b=1l,c—1V,d -1 (D) a=1lL,b=1l,c—1V,d-1l

66. WY o TR T4 o THT § herd HT I I1 il § faved ge7 w9 ¥ fohg m ff

HT 8 ?
(A) GIET AT T AR shi T (B) 3fee Ud HTgeIhIsiA i AT
(C) HTE TRIATFITES h! IucTserd (D) Fortfem 3i warsefa @1 st

During morphogenesis in plant tissue culture, the process of callus differentiation into roots or shoots is
influenced primarily by

(A) Oxygen concentration in the culture medium (B) Ratio of auxin and cytokinin
(C) The availability of carbon dioxide (D) Ratio of gibberellin to ethylene
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67. TRNTIRTH o g # fefefaad # & SH-a1 Juam g ageayyl 8 ?
|. ITe STty ST gHAfmTor
11, DT <k forhETcHeh =T < 3T
lII. ST % ke hl GHAT T o
IV. B8 IR § T STehetdm 1 fafo
(A) haet | 3T I (B) whaet 11 3TN (C) had I, I 3T IV (D) shHae |, Il 3T IV

What is the most significant application of polynology ?
I. Reconstruction of ancient climate
Il. Study of developmental stages of plants
[ll. Evaluation of plants adaptability
IV. Determination of pollen compatibility in crop improvement
(A) Only land Il (B) Only Il and IlI (C) Only I, Il and IV (D) Only I, Il and IV

68. hae H ICH H IAd WGl ! IR HhAU ¥ HH-H fyspreardt 3=fa I 8 ?

1. o4 Wit § Ty | sieme it 3T seerd

2. TEUR ek et ¥ i shaeh et <kt e

3. Sftaq =ik H fgemifep a7aen 1 Wy

4. TFIHTSHITESTA HaY 1 Tmior <l eqmar
(A) ST 1 3T 3 (B) et 2 3R 3 (C) whad 2, 3 3 4 (D) whad 1,2 3 4
In fungi, which evolutionary advancement is associated with the transition from primitive to advanced
groups ?

1. Shift from isogamy to oogamy in reproductive strategies

2. Development of septate hyphae from coenocytic hyphae

3. Dominance of dikaryophase in the life cycle

4. Ability to form ectomycorrhizal association
(A) Only 1 and 3 (B) Only 2 and 3 (C) Only2,3and 4 (D) Only 1,2 and 4

69. aTe < foeRrEandt gfeeshior @ frfeiRad & & -1 701 SRS i USIHIE H T HLdl & ?
1. FANTRS ‘@’ 3R o' hl ufeafa
2. URIAIIE o T W T VR
3. HETIH Uik o €Y H BIZhITSIc HT EHT
4. Tiferefiet SorA =on <t safefa
(A) had 1 372 (B) had 3 3TN 4 (C) hae 1,2 3 4 (D) had 2, 3 3 4
In context of algal evolution, which of the following characteristics distinguish Chlorophyta from Rhodophyta ?
1. Presence of chlorophyll ‘a’ and ‘b’
2. Storage of starch with pyrenoids
3. Possession of phycobilins as accessory pigments

4. Absence of motile reproductive stages
(A) Only 1 and 2 (B) Only 3and 4 (C) Only1,2and 4 (D) Only 2,3 and 4
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70. BRIEATCH soiaga ZiEdle =F H weeTe glearse fefiad 3 & o6 2 aeenl o ofte e gaTe

I ehell B 7
(A) 9178, 1| 3T HTEERM bef TUE (B) Ht.ug. | 37X NADP+
(C) TTEIhH b6f T 3R f.u™. | (D) TA.U.E.u=. fegrsgifvee 3R gfafaaam

The herbicide paraquat blocks electron flow between which two components in the photosynthetic electron
transport chain ?

(A) PS Il and cytochrome b6f complex (B) PS1and NADP+
(C) Cytochrome b6f complex and PS | (D) NADH Dehydrogenase and Ubiquinone
71. T TH URE W@ del TREEel "Gl SmdR R efafed @ 9 feg srgafie foufa @ gt
BT g ?
(A) T fgmm (B) FeTsThet fg|  (C) b g e fagm (D) =3 fagm

Aneuploidy females possessing a single ‘X’ chromosome are typically associated with which of the following
genetic condition ?

(A) Turner syndrome (B) Klinefelter syndrome (C) Cri du chat syndrome (D) Down syndrome
72, TreAfcTRga <ot <l @&l g H safedd iy |
aTitfefadr Sadls % IR Fecaqel = § |
. =ISH
II. Jd18-q
1. wfcreaet
\ARUET k|
(A) 1, 11, 1V, 11 B) 1,1V, 1, II (C) 11,1, 1V, | (D) 1, 1, 11, IV

Arrange the following steps in the correct sequence.
The four ecologically important steps of ecological succession.

. Nudation
Il. Migration
[ll. Competition
IV. Ecesis
(A) 1,11, 1V, I (B) 1, 1V, 1, 1l (C) 11,10, 1V, | (D) I, 1L, 11, IV
73. Tm=fafaa =won o1 €l e ° safed # |
W fafafga =/on & s S @
. efdm 1. TR . e IV. Tehed
(A) 1, 11, 1V, 11l B) 1,1V, 11, II (©) 11,111, 1V, | (D) 1, 1, 11, IV

Arrange the following steps in the correct sequence.
Rubber preparation consists of the following steps :
I. Tapping II. Smoking Ill. Pressing IV. Coagulation

(A) 1,11, 1V, Il B) 1, 1V, 1, Ii (C) I, 1L, 1V, | (D) 1, 1L, 11, IV
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74. Trfafad =wor 1 98 3TgHA § Safed H |

| SAeFEe R hice e gRT SEIvral I o

I|. STeHT Ud fsheh g0 S1.UA.U. T 3MUTTaeh Hised

1. oISt e el T SIS 1eg gfaried st

Iv. fspeh grar arurferes Sftar T o Bt ST o1 SRedTferd ST

(A) 1, 11, 1V, 1l B) 1, IV, 1L, Ii (©) 11,1, 1V, | (D) I, 111, 11, IV

Arrange the following steps in the correct sequence.
I. Induction of polyploidy by Colchicine by Blakslee
Il. Molecular model of DNA by Watson and Crick
[ll. Term transposon coined by Hedges and Jacob
IV. Central dogma of molecular biology proposed by Crick
(A) 1L 1,1V, I B) LIV, I ©C) LML IV, I (D) 1, 1,1, 1v

75. = Q1 A T T €, TH I AHHAA (A) IR G Hl T (R) FH81 1 2 |
TR (A) : TehissrdieEn stcafees qafaweii giteufen o Sfifaa @ o am 8 2 |
ek (R) : 3ok hITSTehT TR § UeeTgeiaigeh U ST & |
g fasen ?[5! :
(A) (A) 3T (R) G Tl 2 3T (R), (A) 1 HEl =amem &
(B) (A) 3R (R) SHI HEl & W (R), (A) hl T&l =AmEA Tl &
(C) (A) W&l B, W (R) 7T @
(D) (A) T &, g (R) &l 8
Given below are two statements, one is labeled as Assertion (A) and other as Reason (R).
Assertion (A) : Archaebacteria are capable of thriving in extreme environmental conditions.
Reason (R) : Their cell walls are composed of peptidoglycans.
Choose the correct option :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(C) (A)is correct, but (R) is not correct
(D) (A)is not correct, but (R) is correct

76. = Q1 YA 16T T &, TH I AHHAA (A) 3R g8 I T (R) FH81 1 2 |
aafreReA (A) : TiHfeaE fewiiag didl St gort o diciieaias didi § 31 31 o1d 7 |
Teh (R) : T8 T 3TAfTeh TS o T T A fieh I ol efdd ohidl 8 |
Rk fereped ﬂﬁ :
(A) (A) 3R (R) SHI W&l & 3 (R), (A) hl HEl = B
(B) (A) 3R (R) GHI &l § g (R), (A) I HEl =amen 8 2
(C) (A) W&l 8, W (R) T &
(D) (A) TTerd B, T (R) ®El B
Given below are two statements, one is labeled as Assertion (A) and other as Reason (R).
Assertion (A) : Apomixis is more common in polyploids than diploid plants.
Reason (R) : It refers to the substitution of the usual asexual reproduction by a form of sexual reproduction.
Choose the correct option :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(C) (A)is correct, but (R) is not correct
(D) (A) is not correct, but (R) is correct
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77. T=fefed wuat = < 9w
a. SIS TeTgaT Ueh O fova wairfar 2 |
b. ST 91 U 3 forvd WS B |
c.ﬁﬁﬁ?‘lﬁ%%ﬁ'—lél
d. WIS T qUHt fored st @ |
Eﬁﬁ%‘?ﬂﬁ
(A) ad a, b, c
(C) %ad b, ¢, d

Read the following statements carefully :
a. Oryza sativa is an old world species.
b. Zea mays is a new world species.

c. The origin center of bamboo is China.
d. Pineapple is an old world species.

Choose the correct option :

(A) Only a, b, c

(C) Only b, c,d

78. T — 1 H g — 11 ¥ fire & |

= -1

a. =FAEH .
b. TH.T.3TR, i.
c. T ii.
d. SRIfH-1 iv.

= fou MU e ¥ ¥ T IW T |
Fe:

(A) a—i, b—ii, c —iii, d — iv

(C) a—iv, b—ii, c —iii, d — i

Match List — I with List — I1.

List - |

o o

Nucleosome i
SAR ii.
tau iii.
d. Dynein-1 iv.

(B) e a, b, d
(D) % a, ¢, d

(B) Onlya, b,d
(D) Only a, c, d

g -l

T AU hT THTRTSH

T o =i 3T foiver 8311 147 bp ST
ATPase Tafafer

ShITTET ol ek Highd o ST

(B) a—ii,b—i,c—iv, d—iii
(D) a—ii, b—iv, c—i, d—ii

List -1l

Assembly of tubulin molecules

147 bp DNA wrapped around histones
ATPase activity

Anchor chromatin to nuclear matrix

Choose the correct answer from the code given below.

Code :
(A) a—i, b—ii,c—iii,d—iv
(C) a—iv, b—ii,c—iii,d—i
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(B) a—ii,b—i,c—iv, d—ii
(D) a—ii, b—iv,c—i, d—ii
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79. ®UA-1: ‘Ras' T BT ‘GTPase’ &, S hIf¥HI H RTKs & hesch doh et ug=H | Heg hiar & fored
Hifrent gfg 3 fde g 2 |
HAA - 2: ‘Ran’ T BT ‘GTPase’ &, Sl hIISThT & IHee! URTET & S dfehed TiETe 3T
TFETEIeE Sl FEba wtr @ |
g fasen %\[5! :
(A) GHI e @l &
(B) QI oM TTId &
(C) S 1 7TTd 7 3R A 2 T 2
(D) A 1 HEl 8 3 HYA 2 TAd &
Statement 1 : ‘Ras’ is a small ‘GTPase’ involved in transmitting signals from RTKSs to the nucleus in the
cell leading to cell proliferation and differentiation.
Statement 2 : ‘Ran’ is a small ‘GTPase’ that regulates vesicle trafficking and exocytosis during intracellular

transport.
Choose the correct option :

(A) Both statements are correct
(B) Both statements are incorrect
(C) Statement 1 is incorrect and statement 2 is correct

(D) Statement 1 is correct and statement 2 is incorrect

80. I Q1 YA 6T T &, TH I AHHUA (A) TR GEX &I T (R) el T 2 |
AR (A) : TASHT HEsH FIHTCHS €9 H IIOTH Bl & Ffh 39 AU T B & 911 uerei i
Tt =t fRIfa et 8 |
T (R) : ST T TATSHT BEsH | THI(Ed 8id & 3 qef} STU[3Ti ol =1 3T STMHR 37 37
F ft 81, Tad 9 ¥ i g i 3Efd <d § |
TEl oo T |
A) (A) 3T (R) ST Tl & 3T (R), (A) H & =& 7
B) (A) 3 (R) S Tl € UG (R), (A) i Tl =E TE B
(C) (A) HEl B, 9 (R) TTerd B
(D) (A) TTeTel &, g (R)aﬁ%
Given below are two statements, one is labeled as Assertion (A) and other as Reason (R).
Assertion (A) : Plasma membrane is selectively permeable due to the presence of integral proteins that
regulate the movement of substances.
Reason (R) : Integral proteins are embedded in the plasma membrane and allow all the molecules
regardless of size and charge to pass freely.
Choose the correct option.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(C) (A)is correct, but (R) is incorrect
(D) (A) is incorrect, but (R) is correct
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el kil ke Rtic il
T - g -1l
a. fewmfam i. e 18-hTeH STHHI-3TohIEd, Teh U BTESIhTeH @
Y SR
b. H.w=.aE. SfH ii. JUTh BISEIShH o TATIIEH i heagd il
c. fLE.E. i, e
d. WK, &= iv. fderad e
Hi fou U e § 9 T I gFT |
Fe:
(A) a—i, b—ii, c —iii, d — iv (B) a—ii,b—i,c—iv,d—iil
(C) a—iv, b—iii, c—ii,d —i (D) a—iii,b—iv,c—i,d—ii
Match List — I with List — II.
List -1 List - II

a. Sphingosine i.
b. PHY Gene ii.
c

. PCD
d. MYB Proteins

V.

An 18-C amino-alcohol, a diol with an unsaturated hydrocarbon chain

Encodes apoprotein of the pigment phytochrome

Apoptosis

Transcription factor

Choose the correct answer from the code given below.

Code :
(A) a—i, b—ii,c—iii,d—iv
(C) a—iv, b—iii,c—ii,d—i

(A) G BT &S
(C) trea &fiw

(B) a—ii,b—i,c—iv, d—ii
(D) a—iii, b—iv, c—i, d — i

Na/Ca 3fesie & &b YRR YOI hl &I &l Shal SITaT & 7

(B) Fm it
(D) FAISS &S

The somatic embryos covered with Na/Ca alginate are not characterized as

(A) Encapsulated seeds
(C) Synthetic seeds

(A) STIT-13
(C) Tedaie Tgd ST

(B) Atrtificial seeds
(D) Closed seeds

forefafaa @ 9 H-a1 fawea e fy=ar 1 IeE T8 8 7

(B) HHT ZHIKX
(D) <Al

Which of the following option is not an example of somaclonal variation ?

(A) Bio-13
(C) Oxalate removal
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(B) Super tomatoes
(D) Topato
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84. F - 18 FEH - 11 1 fam L |
Tl -1 g -1l

a. :Pﬁ & ofiR i. %!@ Tafaerman

b. 3TET % Hid GO RCIER)

c. T Gl & = iii. sfter fafagar

d. g digwi % o= iv. Seel fafaea
e feu T e H @ wE I AT |
E
(A) a—i,b—ii,c—iii,d—iv (B) a—ii,b—i,c—iv, d—iii
(C) a—iii,b—ii,c—i,d—iv (D) a—iv, b—iii,c—i,d—ii
Match List — I with List — II.

List -1 List -1l

a. Within sample i. Point diversity

b. Within habitat ii. Alpha diversity

c. Between two habitats iii. Beta diversity

d. Between two landscapes iv. Delta diversity

Choose the correct answer from the code given below.

Code :
(A) a—i, b—ii,c—iii,d—iv (B) a—ii,b—1i,c—iv, d—ii
(C) a—iii,b—ii,c—i,d—iv (D) a—iv, b—iii,c—i,d—ii

85. IcUNEd & TEY H Tl I A |
(A) HHeTag Sfiat § 3wt Icaftede 3T Iq@ IcaNEdHl Sl 89T 31 Jehdl &
(B) fewatas Sfia  3TowTelt Icafia o shael ¥l Tg=1 ST Hehdl 2 S8 HHgwh fefd o HISg &l
(C) fewtiae o srferemizr rwwTe Scuftard= sharet fowmgm feufa o disg 89 W U= o1 Tehd &
(D) o & g Imareht ardes Icafiad ), fofm U i S dhd @
Regarding mutation, select the correct answer.
(A) In monoploid organisms, recessive mutations and dominant mutations may be recognized

(B) In diploid organisms, recessive mutations can be recognized only when present in the
homozygous conditions

(C) In diploids, most recessive mutations can be recognized only when present in the heterozygous
condition

(D) Sex-linked recessive lethal mutations may change the sex ratio
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86. TopT TSl & 4 T 3MUR & & 37 I W T Hagt Tforent off, AAfehT 3meam 3 3 & <= 5-7

Hag! AfeTeht AT ?
(A) FEATSTSAN T () Fafwifem 0%
(C) FHIPITELH T (D) TrEFrN TRl

Which species’ stem had a single vascular cylinder near the base and at the apex, but had 5-7
between the base and apex ?

(A) Nipanoxylon guptai (B) Nipaniophyllum raoi

(C) Cornoconites laxum (D) Sahnia nipaniensis
87. Wgheed &l ffafad ¥ & HH-T1 g gaw B gf w1 gfaffecs s g 2

(A) STIF TATSATEH (B) it fufurn (C) i gftren (D) SR FAIREHT

Which of the following member of cycadales represent the smallest leaves ?

(A) Diaon spinulosum (B) Zamia pygmea (C) Zamia pumila (D) Zamia floridana
88. SEIfILdl T HH o g4l o foT¢ 3fua faesheq s 8 7

(A) SfafereraT T TR0 3R Tad 9T

(B) Safafaerdar 1 TeIur 3R 36 vl ol fsuet seam

(C) Safafrerdt o Tl ST Hdd IUANT T 5981 Seamn

(D) Safefaerdr o1 TRET0T, Tad SN Ud §6eh ATl o1 (I598] Seam
Which is the best option to describe the aims of connection of Biodiversity ?
(A) Conservation and sustainable use of biodiversity

(B) Conservation of biodiversity and fair sharing of its benefits

(C) Sustainable use and fair sharing of benefits of biodiversity
(D) Conservation, sustainable use and fair sharing of its benefits of biodiversity

89. YA | . WIell T UNehed=T STSHAVHTIET & H YSIT(T shl Thetdl sh SATEAT Hid! 7 |
A || ; T BIAR TNehedH1 STTSHATT SIfshaT o ToTu geaHl <l gt <hi sameam it 2 |
gl faehed T -
(A) SH | A 8, T HH || T8 8
(B) U | &l B, T oM |l TieId B
(C) THI e T &
(D) SN Y Tetd &
Statement | : The empty Niche hypothesis explains the success of species as invaders.
Statement Il : The novel weapons hypothesis explains the release of enemies for the invasion
process.
Choose the correct option :
(A) Statement | is incorrect, but Statement Il is correct
(B) Statement | is correct, but Statement Il is incorrect

(C) Both Statements are correct
(D) Both Statements are incorrect
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90. Hdd faerm@ ki STEURON skl Gui9 A Irelt T faehed 1 == W |

(A) 3TTffen, TmmTfoTeh, qerfereT (B) wmifc, &, FteTor

(C) 3ffen, Fram, wfEwo (D) 3R, |THTISR, HE&
Select the correct option for describing the concept of sustainable development.

(A) Economic, Social, Environment (B) Peace, Security, Environment
(C) Economic, Security, Environment (D) Economic, Social, Security

91. Tr=fafga & @ w9-71 %o ‘Aifsifees MY Afsd’ 9 gafod g 7

AffIfees My HteRt fed 2

dN:rN(1—Nj

dt K

a. 99 N = K 8T 7, a9 SHae gfg & 3foshad g |

b. SIE STE N, Kl % F¢, OGN Jig ot 9 |

c. Ife N> K BIdT 8, d9 SEEaT g9t |

d. K STaTerer gRT HAfehdd SEEAT €R0T hid <hl &8 eiidr 2§ |

(A) HaA a (B) sl d 3 ¢
(C) =had b 3T ¢ (D) e b, ¢ 3 d

Which of the following statement is related with the ‘logistic growth model’ ?
The logistic growth equation is as follows :

dN N

— =N| 1-—

dt K

a. Population growth rate is higher when N = K.

b. Population growth rate decreases as N approaches K.

c. If N > K, the population will decline.
d. K represents the maximum number of individuals the environment can support.

(A) Only a (B) Onlydandc
(C) Onlybandc (D) Only b,candd
92. 3UIfersh TR W Nl H Aokl o Rt o Tt dfshal 21 aTeft Tfeiers wfshan sia-wt 8 72
(A) TTswEffefad fraig (B) WTed gRAMS edi-4
(C) AffFaeiea fowmre (D) ShIATE YeIeH
At the molecular level, which is the earliest response activated in plants against pathogens ?
(A) Hypersensitivity response (B) Phytohormonal response
(C) Oxidative burst (D) Chromatin remodelling
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93. Uy iR § U gfeierss gfafsean & R forefies steamae T (SAR) & folw she-a1 @rRA

94.

95.

96.

STERh 8 7

(A) affafers s (B) Ufshften 3

(C) 3TgA (D REELNES

Which chemical is responsible for eliciting Systemic Acquired Response (SAR) during plant’s infection ?
(A) Salicylic acid (B) Abscisic acid

(C) Ethylene (D) Gibberellin

HH-F1 HIfRT T~ fareett o g 8 3R sred-wamm wfasfa i g demgfe @ Jeraar g 2

(A) FATARL (B) AATSHEM (C) UTeREH

(D) TSIE™

Which cellular organelle has a dual-membrane and is associated with semi-autosomal replication and

maternal inheritance ?
(A) Chloroplast (B) Lysosome (C) Peroxisome

$-fadt gew dada & ffofga @ 2
a. Uied=siierar st €

b. T T IUSHAT

c. THFREATS T BT ITHR

d. TR SISehi T IcaTe

(A) A a, b, d (B) % b, ¢, d (C) whaet a 3 ¢
In-vitro micropropagation has following advantages

a. Range of variability

b. Year-around availability

c. Small size of explants

d. Production of disease-free propagules

(A) Only a, b, d (B) Only b, c, d (C) Onlyaandc

FATTE 3cuTe & foru frafafga @ @ <= stews 8 2

a. ITUNTE] Icaiadd S Tcaet Shifam

b. TUTE %1 &1 THT ST < STG IS fguel diel o 3eared
c. U Ufcierer 31 oisg feud) dfeaqa =1 famm

d. SgUET <l SRS

(A) A a, b, d (B) & a, b, ¢ (C) %ad a, ¢, d

Which of the following are necessary for Haploid production ?
a. Direct screening of recessive mutation

b. Production of homozygous diploid plants following chromosome doubling

c. Developing disease resistant and superior diploid lines
d. Induction of polyploidy

(A) Only a, b, d (B) Onlya, b, c (C) Only a, c, d
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(D) Endosome

(D) et a 3 b

(D) Onlyaandb

(D) et b 3R ¢

(D) Onlybandc
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97. = Q1 YA 4T T &, TH 1 AHFAA (A) 3R g8 1 T (R) Fal 11 2 |
fireReM (A) : TghTTE SfafeaTshier it fafsmedr 2 |
e (R) : ZISSATIS <l A TS o A X JHehT bl TehgHT 3T I LT 8 |
g forehed g |
A) (A) 3R (R) T @&l & 3R (R), (A) 1 & =mE @
B) (A) 31 (R) &l &&l & weg (R (A) T wE =T TE #
(C) (A) T B, TG (R) T 2
(D) (A) T &, T (R) &1 &
Given below are two statements, one is labelled as Assertion (A) and other as Reason (R).
Assertion (A) : Trichogyne is the characteristic feature of Basidiomycota.
Reason (R) : The function of Trichogyne is to capture and receive male gametes during fertilization.

Choose the correct option.

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(C) (A) is correct, but (R) is incorrect

(D) (A) is incorrect, but (R) is correct

98. = &l A fu Y &, wh I AFUA (A) 3 G i do (R) Hal T 2 |
R (A) : TR fetgeet @ o St fiessy dfiurl /A w1 R 7 |
ek (R) : 39 TS bl ST § TAWRIET H Hafedd fham ST bl 8 |
g forehed g |
(A) (A) 3R (R) I & & 3R (R), (A) I H& =T 2
(B) (A) 3R (R) GFI € & W (R), (A) sh! Hal AT 7@ &

(C) (A)TTeTd B WG (R) HEl &
(D) (A) TE 8 T=q (R) TeTd &

Given below are two statements, one is labelled as Assertion (A) and other as Reason (R).

Assertion (A) : Peronospora destructor causes downy mildew disease of onion.
Reason (R) : This pathogen can be easily cultured in laboratory.

Choose the correct option.

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is incorrect explanation of (A)
(C) (A) is incorrect, but (R) is correct

(D) (A) is correct, but (R) is incorrect
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99. T — 1 F -1l W T |

100.

g -1

a. TSl

b. TIHAT CERIAT

c.%%ﬁﬂ’l’qa'w'ﬁ?q

d. TEH e

= fou e e ¥ @ wE 3w AT |

Fe:

(A) a—iii, b—iv, c —ii, d —i

(C) a—i, b—iii, c—iv, d —ii

Match List — | with List — II.
List — |

Nigella
Leucaena leucophloea

Helichrysum bracteatum
d. Cestrum nocturnum

oo
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(B) a—ii, b—iii, c—iv, d —i
(D) a—i, b—iv, c—iii, d —ii

List -1l
i. Night Jasmine
ii. Love-in-a mist
iii. White popina
v. Paper flower

Choose the correct answer from the code given below.

Code :
(A) a—iii, b—iv,c—ii,d—i
(C) a—i, b—iii,c—iv,d—ii

(B) a—ii, b—iii,c—iv,d—i
(D) a—i, b—iv, c—iii, d—ii

T -1 ° g - 11 e W
T - g -l
a. GPAEE l. K+ SRR
b. JATTaféT l. Cytb® Cytc T Selaei Z-EwHT
c. AfeHMRREH . ATP T89S &t F1 Tegfe
d. THRIRE T IV. TTEeIshM SAfaaes
= fou e e ¥ T wE I AT |
*e:

(A) a=1Lb-=Ill,c—=1IV,d-1

(C) a-IV,b-1ll,c—1,d-1l
Match List — | with List — II.

List -1

Cyanide l.
Auravertin .
Valinomycin [I.
d. Antimycin A V.

oo

B) a=I,b—1Il,c—1ll,d—IV
D) a=IV,b—1ll,c—1,d—1I

List -1l
K+ ionophore
Electron transfer from Cyt b to Cyt ¢
F1 subunit of ATP synthase
Cytochrome oxidase

Choose the correct answer from the code given below.

Code :
A a-Lb=1ll,c—IV,d-Il
(C) a=1IV,b=1ll,c=1I,d=-1l

B) a-I,b—1Il,c—Ill,d—IV
D) a-IV,b—1ll,c—1,d—1I
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